R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4204-07.dwg, TX-4204

¥Endura

P R ODWUCTS, I

8811 West Market Street
Colfax, NC 27235

Glazed Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Steel Door system described herein complies with the 2006
International Residential Code (IRC), Sections R301 & R413 and the 2004
International Building Code (IBC), Sections 1405.12, 1609, 1714.5, 2403 and 2404
{including Texas revisions) subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required o be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

4. Conditions not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS

SHEET# DESCRIPTION
1 Typical elevations, design pressures & general notes
Astragal details (Ultimate Hip Lever)
Astragal details (Ultimate Multi-point)
Astragal details (Ultimate Humicane)

74.44" MAX. FRAME WIDTH

81.94"' MAX. O.A. FRAME
HEIGHT (INSWING)

81.125" MAX. O.A.
FRAME HEIGHT (OUTSWING)

I J'L.! ]
TAT -

¥ 2.0

QTAT
oy )

2
o
"

Door panel details {flush glazing)

Horizontal cross sections

Vertical cross sections

XX

INSWING

+40.0

-45.0

+45.0

-50.0

+35.0

OUTSWING

+45.0

-45.0

+45.0

-45.0

+35.0

IN|~|on WM

Frame anchoring

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.0. Box 230 Valrico FL. 33595
CERTIFICATE OF REGISTRATION # F—11852

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

ENDURA
TYPICAL ELEVATION, DESIGN

PART OR ASSEMBLY:
PRESSURES & GENERAL NOTES

PRODUCT:

BY

REVISIONS

NOJ DATE

oate: 8/07/12

SCALE:

N.T.S.

DWG. BY:

JK

CHK. BY:

LFS

DRAWING

NO.:

TX—4204

SHEET

_1 oF 8

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4204-07.dwg, 1-2

Upper Bolt Sleeve - Aluminum

7

- SR —
— = e =
e e e e e e e e e e e B s e e Y

= e

R Y

Aluminum Body

\___Nt—% I

g &>

(2)#8 X 1-1/2"

— PFH WOOD SCREWS

(2)#6-32 X 5/8" MACHINE SCREWS

|

Lower Bolt Sleeve - Aluminum

ULTIMATE FLIP LEVER ASTRAGAL

DY

TOP

€3y = 4
iq 3

.
{ 1 .
t}_‘)‘.

FRh et

-

Upper/Lower Bolt Actuator Lever - Zinc

(2)#8 X 1-1/2" PFH WOOD SCREWS

(2)#8 X 1-1/2" PFH WOOD SCREWS

N

f=—1.75"
7.5"

~(2)#6-32 X 5/8" MACHINE SCREWS

é ° ;--u- O bl " s W ot |n|=- ) °E
2.25"——-‘ ——
— 33.75"
520"
60.0"
- 77.75" -
ANCHOR SCREW LOCATIONS
B
=3 i

1.75" —=| |=—

40.75" DEADBOLT

[—1.82"

260" -
35.25" LATCH

2.65"

e

0.063" —=—
4

1.7¢8"

JL_

Astragal Section

BOTTOM

7.5

L
aq
o
£, B
£ w 22
Q. ] ™
" ui (S OI
e % N fu
& 'd?; L
°§ 0® 35
o O O 00
gl— FTH 2x
2 J4 5@ 0k
A>n 0ng
Zom %hH
oo &
= oM ®O
@ ON= puw
] 4
) O8Z u
3 28] by
g c
a :'o'o [a]
¥ ek %E
& oo g
Y.
P :
E o
= |
(7]
o
a

—
b
=gy
E-.J

= o
o 95

= 5 bl
2 0 Sw
@ ol <=
9 ==

2 v

= o '(51

2 |9 T

=

o o

& &

>~
fia)
(7]
d
O
%]
|
(v
L
<<
a
o
=z

oate: 8/07/12

SCALE: N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

TX—4204

SHEET 2 oF 8

@ 2012 R.W. BulLDING CONSULTANTS INC.



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4204-07.dwg, 1-3

&
—

—
-

T —r—

S

=%

Upper Bolt Sleeve - Aluminum

l\ (2)#8X 1-1/2"
| "‘ PFH WOOD SCREWS
1N

(2)#6-32 X 5/8" MACHINE SCREWS

Upper Latch - Reinf Resin

(4)#8 X 3" PFH WOOD SCREWS

Latch Actuator
Steel

Lower Latch - Reinf Resin

s,

Aluminum Body

Lower Bolt Sleeve - Aluminum

ULTIMATE MULTI-POINT ASTRAGAL

520"

TOP

Upper Laich

77.75"

60.0"

ANCHOR SCREW LOCATIONS

s

Upper/Lower Bolt Actuator Lever - Zinc

(2)#8 X 1-1/2" PFH WOOD SCREWS

(2)#8 X 1-1/2" PFH WOOD SCREWS

(2)#6-32 X 5/8" MACHINE SCREWS

f=—1.75"
7.5"

Lower Latch

1.82" '

2.65"

1

0.063" —= =—

I4

L

Astragal Section

35.25" LATCH
40.75" DEADBOLT

260"

1.78"

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.O. Box 230 Valrico FL. 33595
CERTIFICATE OF REGISTRATION # F—11852

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

ENDURA
PART OR ASSEMBLY:

PRODUCT:

ASTRAGAL DETAILS
(ULTIMATE MULTI-POINT)

NOJ DATE

REVISIONS

oate: 8/07/12

scae:  N.T.S,

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4204

SHEET 3 oF 8

@ 2012 R.W. BUILDING CONSULTANTS INC.



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4204-07.dwg, 1-4

8" — 35"
PUNCH OUT ——\
2.75" = e Lot 2 50u
3.75" =
; 3.6
o ~—— 10.75' "
o] - 18.75" g o A ——y
26.75" 26,50 [~=——-18.50 -
ANCHOR SCREW LOCATIONS
! Q= FO 0] B0 [ i —
< L 55" -—!—- 35.25" -
<
6'-8" ALUMINUM ASTRAGAL ASSEMBLY
By Endura
BOLT RETAINERS
SLIDE BOLT ROD

VIEW A-A
Aluminum Astragal Assembly

in
o
o~

J 1.75"

ULTIMATE HURRICANE ASTRAGAL

[I o |

—>| |<— 0.32"

SLIDE BOLT ROD
MAITL: Steel
#8 X 3/4" PFH WS I
5 i DEADBOLT STRIKE
2 PLATE
= 1Y #8 X 3" PFH WS
Qg LATCH STRIKE
{ PLATE
BOLT RETAINER
LATCH & DEADBOLT DETAIL

MATL: 9-3/4" Aluminum

BOTIOM

38.5"

SEE DETAIL

ASTRAGAL

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By
WPhone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION § F—11852

™
i
%9.
0oz
g |. o5
2 |3 2F
= o 5
(¥ sl S
Bl £
9 B
g =3
x|
E o ~
o
(o] [1'd
JE
>
m
78]
=
o
%!
oz
ju
<
(=)
o
=
oate: 8/07/12
SCALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4204

SHEET 4 oF 8

© 2012 R.W. BUILDING CONSULTANTS INC.




R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4204-07.dwg, 1-5

g
S

7

INTERIOR

/1 \ HORIZONTAL CROSS SECTION

EXTERIOR

402 ————]

WA

EXTERIOR

HINGE STILE
(WOOD)
36" MAX.
PANEL WIDTH
24.0" MAX - o
D.L.O. WIDTH E
5
o)
= T
2 6 20 X 1
<~H =5 7
2o &0
hZ 2o
N &
&
b

THERMA TRU - Flush Glazed
Door Panel
(fiberglass)

INTERIOR

; T N *
" \\‘ N ‘?-J *
LATCH STILE
(LVL)
. 9/16"GLASS
BITE
11/16" THK. GLASS

1/8" TEMPERED
| Glass

~— AIRSPACE
T 1/8" TEMPERED

GLASS

ALUMINUM SPACER
Q'SO SEALANT

(:) GLAZING DETAIL

TOP RAIL

f—1.75" T

(COMP) i

FIBERGLASS SKIN

(.075" MIN.) \

1

0.93"

Lynden F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33595
813.659.9197

Documents Prepared By

BUILDING CONSULTANTS, INC.

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

EXTERIOR

INTERIOR

FOAM CORE
(POLYURETHAI\R
1.9 PCF MIN.)

BOTTOM RAIL
[COMP) ™

/" 2"\ VERTICAL CROSS SECTION

&/

ENDURA
PART _OR ASSEMBLY:
DOOR _PANEL DETAILS

PRODUCT:

BY | (FIBER  CLASSIC-FLUSH GLAZING)

NOJ| DATE

REVISIONS

oAtE: 8/07/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4204

SHEET 5 oF 8

@ 2012 R.W. BUILDING CONSULTANTS INC.



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4204-07.dwg, 1-6

P

174" MAX. 0.15"
SHIM SPACE - C'.SINK
EXT. SHEATHING (TYP.)

2X FRAMING T —

(G>=0.42) \

#10 X 2.5" PFH WOOD SCREW
e 0X25 00D SC

— JAMB
W ENDURA WEATHERSTRIP

(QEBD/PE 650)
INTERIOR
N
S/ / \ EXTERIOR
DRYWALL AL .
#8 X 2.5" PFH WOOD SCREW #8 X 1" PFH SMS

#8 X 3/4" PFH SMS 4" HINGE

/ 1"\ HORIZONTAL CROSS SECTION
w Inswing shown - Outswing also approved

ENDURA WEATHERSTRIP

(QEB

D/PE 650)

A\

/

(991)

CORNER PADS (TYP.)

[ T[~ DEADBOLT: KWIKSET SIGNATURE SERIES
/ (980/985)

[T~ LATCH: KWIKSET SIGNATURE SERIES

ULTIMATE FLIP LEVER ASTRAGAL

ULTIMATE MULTI-POINT ASTRAGAL
ULTIMATE HURRICANE ASTRAGAL

/— DOOR PANEL

A\

#8 X 3" PFH WS
#8 X 1" PFH WS

/"2 HORIZONTAL CROSS SECTION

\&/

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123
P.0. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.: 813.659.9197

Documenta Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

w
25
==
& o 2
= E
i 2l SS9
gl TQ
.. Q o
= @
§ o
S &
o &
>_
(an]
n
=
=)
n
[0
pd
<
o
o
=z
pATE: 8/07/12
SCALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—-4204

SHEET 6 oF 8

© 2012 R.W. BUILDING CONSULTANTS INC.



2X FRAMING
(G >=0.42)

~—

EXT. SHEATHING \ ;

12 / DRYWALL

1/4" MAX,

SHIMSPACE |

-l #10X 2.5 PEH
1 WOOD SCREW

DOOR PANEL \

0.15"
C'SINK
(TYP.)

y

k HEAD

ENDURA WEATHERSTRIP
(QEBD/PE 650)
EXTERIOR INTERIOR
DOOR PANELX {1\ VERTICAL CROSS SECTION EXTERIOR /8 INTERIOR
ENDURA WEATHERSTRIP W\ \7/ et Lo X\
(QEBD/PE 650) DOOR PANEL
ENDURA THRESHOLD ENDURA DOOR SWEEP \
(Z-SERIES OUTSWING ) (DBK-R) %\
ENDURA THRESHOLD
INTERIOR / EXTERIOR (Z-SERIES INSWING)
= o

SN

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4" ELCO OR
ITW CONCRETE SCREW

/~2"\ VERTICAL CROSS SECTION

W Outswing shown

Mt

/"3 VERTICAL CROSS SECTION
w Inswing configuration

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4" ELCO OR
ITW CONCRETE SCREW

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.: 813.659.9197

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
VERTICAL CROSS SECTIONS

PART OR ASSEMBLY:

PRODUCT:

NOJ DATE

REVISIONS

oate: 8/07/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4204

SHEET _7/ OF _8

R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4204-07.dwg, 1-7

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4204-07.dwg, 1-8

8.34' FROM

TOP OF
DOOR PANEL

FLOOR SUBSTRATE MATERIAL (TYP.)
CONCRETE (MIN. 3000 PSI)
WOOD (G >=0.42)

SEE HINGE -
\
DETAIL | ~EH
T,
&
J 3
3
Pk
SEE HINGE
DETAIL 2
B -
EH
HINGE JAMB
CONCRETE ANCHOR NOTES:

g

2X framing (by others)

2"

-

i
~ (TYP.)

[

-

me) jr &
1 ™ (vey
] 1’\& |
DETAIL 1

DETAIL 2
ll L

6II
(TYP.)

17.5" MAX
0.C. (TYP)

4" (TYP

/'///%/j'j:\z
! 2 (Tvp) N—— 14

FRAME ANCHORING
XX

1. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

‘Tw 1] "
TAPCON® | /4 1-3/4" 2-1/ 3

Elco L L n "
ULTRACON®| 1/4 1-3/4 1 3

#

10 X 2.5" PFH WOOD SCREW

ITw

#8 X 1" PFH WS

X 2-3/4" ELCO OR
CONCRETE SCREW
(TYP @ SILL)

|e
o
o

I |

J

% #8 X 2-1/2" PFH WS§

— #8 X 3/4" PFH W§
~— 4" X 4" HINGE

HINGE DETAIL 1

Astragal Strike Plate

@ Head Jamb
= [\o\:]‘\ ==
N
#10 X 2.5" PFH WS
DETAIL 1
3/8" DIA. HOLE
N \b S
DETAIL 2
17T ;/ #8 X 2-1/2" PFH WS
Y |
rygn
m ’. - S~
#8 X 1"PFH wsé:. |, $IF==E= #8 X 3/4' PFH WS
"1— 4"X 4" HINGE
W
3\
HINGE DETAIL 2

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

P.0. Box 230 Valrico FL. 33595
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
PART OR_ASSEMBLY:
FRAME ANCHORING

PRODUCT:

BY

REVISIONS

NOJ DATE

oare: 8/07/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4204

SHEET 8 oF 8

© 2012 R.W. BUILDING CONSULTANTS ING.



